CD64 FITC Pharmingen (IgG1, 10.1)

=
&
= NE
=
[ ]
ngE
§1—
S
et
107 Ik 107 107 107
CD6d FITE
=
T
LY
(1]
.
z
L]
= LT
107 Ik 10° 107 107
CO6d FITC
=
o
_ MO
7
25
Z 5 ]
= 3
= 3 T —r—r——rr
107 Ik 107 107 107
CD6d FITE
o EO
2
ﬂﬂ
z ]
L] A
E_'
107 Ik 10° 107 107
CO6d FITC
oo
BA
107 107 107

CDod FITS

TR

Cqu;EErﬂF'

o 1

45 PerP
P 1|:|E LR
T BT

10?10

45 PercP
mE 10° o

¢
107 m‘D

LR

CP=151 I:IF'EI"C P

10?10

45 PercP
mE ¥ qpd
M T

¢
107 m‘D

2o
10"

1 10° 10°

T
10 10
Ched FITE

10

T
10
CDEA FITC

et T
: ‘IWFI

10

107

n 1 3

10

10

=

10°
D6 FITE

T LR |
10 10

—_
=

10

T
10
CDEA FITC

10

107

n 1 3

10

E T

10° 10

Ched FITE

LA LR |
10 10 10



FSZH
0 200 400 600 200 1000

FSCH
0 200 400 G600 200 1000

FSZH
0 200 400 600 200 1000

FSCH
0 200 400 G600 200 1000

FSZH
0 200 400 600 200 1000

NE

100 Ik 10% 107 10
CDR4 FITC
; LY
T LR | LA ILLL) | LA ELELELILELY | rrrrrrm
100 Tk 107 107 10
DR FITC
E MO
ooy Ty T
10 0 0 10 10
CDR4 FITC
; EO
T LLLY | LA ILLL) | LEELELELILILAL | rrrrrTm
100 Tk 107 10° 10
DR FITC
; BA
1, e
3 {kﬁ i
LN ENLELLILELY | LENLELELILALL) | LENLELELELILALN | rrrrrmm
100 Ik 10% 107 107
CDR4 FITC

SSCH S5CH SSCH
0 200 400 600 200 1000
Ll 1

S5CH

SSCH

100 Tk 0% 107 10
CD6d FITC
=
= ]
=
[ N
=2
=
=
=3
= ]
=
T 3
[ N
=1
S g e
10 10 10 0 10
CD6d FITC
=
=)
CE
= ]
=
o
=
o
[ N
=
T ] A
=% . “m
D-D T IIIIIIII1 T IIIIIIII2 T IIIIIIII3 T T T TT 111
10 10 10 10 10
CD6d FITC
=
=
2 3
= 3
=
=
=3
= ]
=
T 3
[ N
=1
= g
10 10 10 0 10
CD6d FITC
=
=)
CE
= ]
=
L=
= ]
=
o
[ N
=
T 3
E_:,. ae.de
ZE N
D-D T IIIIIIII1 T IIIIIIII2 T IIIIIIII3 T T T TT 111
10 10 10 10 10
CD6d FITC

Page 3



	CD64 FITC Pharmingen (IgG1, 10.1) 

